Jeff Morrison

Center of Mass Lab

Purpose: Determine the relationship between the center of mass of the mass system as compared to the original center of mass of the meter stick. Find the mass of the meter stick.
Procedure: Measure displacement of center of mass with an increase in mass in various placements along the ruler.
Analyze: Mruler=Mmass(-Scm+X2)
  Scm – X1
Hypothesis: The new center of mass will approach the direction of the added mass proportional to the distance from the original center of mass.
	M1 (kg)
	X2 (m)
	Xcm (m)
	X1 (m)
	M1 (kg)

	0.100
	0.100
	0.293
	0.505
	0.091

	0.100
	0.200
	0.345
	0.505
	0.091

	0.100
	0.400
	0.450
	0.505
	0.091

	0.100
	0.750
	0.638
	0.505
	0.084

	0.100
	0.690
	0.608
	0.505
	0.080

	0.100
	0.950
	0.740
	0.505
	0.089

	0.200
	0.300
	0.363
	0.505
	0.089

	0.200
	0.010
	0.160
	0.505
	0.087

	0.200
	0.800
	0.716
	0.505
	0.080

	0.200
	0.450
	0.470
	0.505
	0.114

	0.200
	0.350
	0.400
	0.505
	0.095

	0.200
	0.900
	0.780
	0.505
	0.087


Conclusion: As can be seen by the chart, the mass of the meter stick is fairly consistent using the Analysis working equation above. As the added mass is placed further and further from the original center of mass of the meter stick, the center of mass of the system moves further from the center of mass of the original meter stick.






